WOOD DUCK HABITAT INDEX WORKSHEET 


Participant ____________________ Tract No. ___________ Date __________ Field No(s). __________ 

Acres ________________ 
	
QUALIFYING QUESTIONS:

[bookmark: _GoBack]A waterbody (lake, pond, river, stream, wetland) with greater than 1 acre of open water is present on the project site throughout brood rearing:
								     Yes- continue to HSI 

								[image: ] No – end assessment

WOOD DUCK HABITAT INDEX 				 	EXISTING 	PLANNED 

1. Potential nest sites (natural tree cavities with a minimum of 4 inch entrance diameter & 24 inches deep) and artificial boxes per acre of suitable nesting habitat

 0 suitable nesting sites					 0		_____ 		_____
 1 suitable natural nest site per acre 			.2 		_____ 		_____ 
 2 suitable natural nest sites per acre 			.4 		_____		_____ 
 3 suitable nest sites per acre				.6 		_____		_____ 
 4 suitable nest sites per acre or 1 box			.8 		_____ 		_____ 
> 4 nest sites per acre or > 1 box (cover dependent)	1 		_____		 _____ 

2. Percent of the water surface covered by potential brood cover1
<10%							0		_____ 		_____
10%	 						.2 		_____ 		_____ 
20%							.4		_____		_____ 
30%	 						.6 		_____		_____ 
40%						 	.8		 _____ 		_____ 
50-80%							1		 _____ 		_____ 
90%							.4		 _____ 		_____ 
100%							0		 _____ 		_____ 

3. Distance between nesting & brood rearing cover
<300 feet						1		_____		_____ 
301-1600 feet		 				.75		_____ 		_____ 
1601-3300		 				.25 		_____ 		_____ 
3301-1 mile						.1		_____ 		_____ 
 >1 mile						 0		_____		 _____ 

4. Contiguous Wetland Habitat (wetland & other aquatic habitat accessible to ducklings not separated by >100’ of upland)
> 25 acres						1		_____		_____ 
20-24			 				.8		_____ 		_____ 
16-20 ac		 				.4 		_____ 		_____ 
10-15 acres						.2		_____ 		_____ 
 <10 acres						 0		_____		 _____ 


(A) TOTAL HABITAT POINTS (4 MAX.)				_____		 _____ 

(B)  HABITAT INDEX/POTENTIAL (A/4) 				_____ 		_____ 


		 

Eligibility:
1) If (2) or (3) is 0 in the planned condition then the project is ineligible
2) If (B) existing habitat is equal to or exceeds .50 landowner is ineligible due to resource concern already being met
2) If (B) existing habitat is less than .50 then planned habitat must exceed .50 for eligibility (compliance with national quality criteria) 

1. Percent of water surface area that is covered by shrub cover, overhanging tree crowns within (3.3) feet of the water surface, woody downfall, and vertical herbaceous vegetation.  
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